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Guess Paper – 2009

Class – XII

Subject – Chemistry
GENERAL INSTRUCTIONS:

  1 All questions are compulsory.                                                      
 2.Question number 1 to 8 are very short answerquestions,carry 1 mark each
 3. Question number  9 to 18 are short answer questions,carry 2 marks each 
 4Qquestions number 19 to 27 are also short answer questions,carry 3 marks each.
5Qquestion number 28 to 30 are long answer questions carry 5 marks.

1.Why glass is called super cooled liquid?

 2Why mercury cell has constant cell potential?
3How delta is formed?
4.Why PCl5 is reactive?
5.Write IUPAC name of the following compoundCH3-CH(CH3)-CH2-OH

6.Draw structure of  2-methyl pentenal
7.Define tertiary structure of protein ?

8.Write monomer of nylon6,6 ?

9Why osmotic pressure is preferred to determine molecular mass of macro molecules?
                                                                                     OR

Why osmotic pressure is called colligative property?

10.Write reactions of dry cell at anode and cathode ?
[image: image1.png]11.Calculate the cell potential   Zn(s)  + 2Ag+ (.01M)

Zn++(.01M) + 2Ag(s)
12.Answer the following:

  (i) Fluorine is highly electronegative?  
  (iiNitrogen does not form pentahalides?

13Explain lanthanoid contraction and its consequences?
14.Write mechanism of      nBuCl  +K CN                              
nBuCN     +  KCl                      
15.Convert- (i)Why it is preferred to prepare chloro alkane from SOCl2 and alcohol?
                   (ii)Why C-X bond in heloarene is shorter and stronger?
16.Explain (i)Alkyl amines are more basic than aromatic amines
                  (ii)Aniline is acylated before nitration to get mono substituted products .
17.Explain with one example (i)Sandmeyer  reaction
  
                                               (ii)Ammonolysis of amines
                                                                                                                                               18.Explain mechanism of free radical polymerisation ?   (2)
19 Silver crystalises in f.c.c. lattice,it has edge length 4.07 x 10-8cm and it has density 10.5gm/cm3

     .Calculate atomic mass of silver.. (3)
20)10 gram of a non-volatile solute when dissolved in 100 gm of benzene raises its boiling point by 1 degree .What is the molecular mass of solute.Kb for benzene is 2.53 KKg/Mole
                                                                          OR

Heptane and Octane forms ideal solution .The vapour pressure of heptane and octane are 105.2 and 46.8 KPa respectively.What will be vapour pressure of mixture containg 25 gm heptane and 35 gm octane.?

21 What are emulsions?what are their different types?How demulsification is done?.  1x3
22.Explain  (iFroth stabilizers                                                                       1x3
                   (ii)Collectors 
                  (III) Depressants  in Frothflotation process
23.Explain giving reason-                                                                                                                           1x3
    (i)Transition metals have +2 common oxidation state.
    (ii)Transition metals act as catalyst..

    (iii)Transition metals form alloys
24.Explain [ Ni(CN)4] is sqare planer but [NiCl4] is tetrahedral?
25.(i)Why tertiary alcohols do not undergo dehydrogenation reaction ?         1x3
    (ii)Why phenolic ethers  do not give phenol on hydrolysis?
    (iii)How will you convert phenol in to salicaldehyde.?
26.(i)What is replication ?       1x3
     (ii)What are the reactions of glucose which are not given by its linear structure ?                          
     (iii)What is the difference between amylose and amylopectin ?

27.What are cationic and anionic detergents.Give one example of each ?(3)
28.(i)Define order of reaction?what is the unit of rate constant K for zero order reaction ? (2)
     (ii)The slope of the line in the graph of log k versus 1/T for a reaction is -5841K.Calculate energy of

 activation for this reaction?(3)
                                                                            OR

The rate of reaction doubles when temperature is raised from 298k to 308 k.Calculate energy of activation?(5)
29.Assign reason for the following:    1X5
    (i) Ozone is a power oxidizing agent.

    (ii)Blue solution of copper sulphate becomes blue in liquid ammonia.
    (iiiCl2 act as strong bleaching agent.

    (ivPH3 is basic in nature. 
    (v)Only xenon is known to form noble gas compounds

 OR

(aWhy Bi(v) is strong oxidizing agent? (2)
(bExplain conditions to prepare ammonia by Haber’s process? (3)
30. (a)Distinguish CH3CHO and CH3COCH3 by a chemical test.? (1)
      (bWhy carboxylic acids are more acidic than phenol?(1)
      (c)Cyclohexanone forms cyanohydrin in good yield but 2,2,6-trimethylcyclohexanone does not?why?(1)
     (d)There are two –NH2 group in semicarbazide but only one is involved in the reaction.why?(1)
     (e) During the preparation of ester,either ester or is removed as early as possible.why?(1)

                                                  OR

(a)Convert in two steps(i) Propanone to propene  (ii)Acetic acid to acetaldehyde 
(iii) Toulene to benzaldehyde                                                                                                     (3)
(b)What happens when-(i) When acetaldehyde reacts with HCN
                                      (ii) Acetic acid reacts with Cl2 in presence of red phosphorous
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